765-DN(M) Y-/ A

QUESTION BOOKLET CODE

w4m

AR TR/ Government of India
3aRaT fasmer Department of Space
R 3ARET HJHUT Haree/ Indian Space Research Organisation
%9 A& Jorret #w / LIQUID PROPULSION SYSTEMS CENTRE
afergaer o3, fO¥asidyXA/ Valiamala P.O., Thiruvananthapuram - 695 547

scEAs Y (Fifiw) Fug W g iq fRd afen

WRITTEN TEST FOR SELECTION TO THE POST OF DRAUGHTSMAN ‘B’ (MECHANICAL)
(Advt. No.LPSC/02/2023, Post No. 765)

T Date: 23.12.2023
3THAH 3% Maximum Marks: 80 AT Time: 10:30 - 12.00 ¢ hrs
FAt &7 ATH Name of the Candidate: ATEF Roll Number

T F A 317-_1,?31' Instructions to the Candidates '

1. SFfEaRt # SossT 3dest # Seed SAHRE & MUR W 3wl R e & Rv g o § ol
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Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per our advertisement, your candidature will be summarily
rejected.

2. 3 @ % F ¥ upa 3wl wee-qfeas e 3 UH AR Seer-hie F R v snpet @ oo
¥ 9g ol

Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet before
start answering.

3. WRA-9H, 80 WeHAl & WU GeA-YRETH F ¥ H §, v Faxor Rewed § qur w@dw weT 1 30F @+ ¥
fSres ar oo €, e @ Sao & Reew fndde wdr B
The question paper is in the form of Question Booklet with 80 Objective type questions based on
the curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.

4. yAfE H 3 T IR IeR e A o v sl F IER, I OH R Ieer efe F o geger

Tell/aTell TRl & &l UigT U @ Hlell e TE e & TdeT F ¢l

Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen only as per the instructions given in the OMR answer sheet.

5. e qReae # 0¥ a0 wue ) et 3i9er A vd wAE o

Candidates should write their Name and Roll Number in the space provided in the Question Booklet.
6.  UREAT & 3R &F & AT 9T & U 3 v WK Me warT A Srar

A separate OMR sheet is provided for answering the questions.
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11.

12.

13.

14.

15.

i ITANR IeaX Gfeawr 70T & Tt rar S T B, 9T 3caRl @ deed/geraer R T
At grEuEr kdr Ser arfevl wis faRed AANR T vae [61 $r S|

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling / bubbling
answers. No spare OMR sheet will be provided.

T qRaw & fif e F W ART wew gR¥aw Fs (AB/CID/E) F 3 wA IR 3ol ofie 7 °F
v Ty 1 forET st a@nfyel

Question Booklet Code (A/B/C/D/E) printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

TS TR 1 3@ H §, 3ok A &7 W YeA 3F AR 716l 3R & AU 0.33 HomeH® 3F| R g
T W 3AEF I el ek HAT STC

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.

TR gl & 3HeX Fogacy, AESd B, FAC AW, §59e, el YEdch, ogIvTe diforeRl, SRl TS
$HT AT S 3T FaIeh AT o S B AT e el AR T gTy ES A A 3 e &
1 seAfT @Er & Swel AR W HUHANR H Ao Ag fHAT ST AR W IFAER F Rerw
3T FASH T qTer FEEN FNATS AE B S @ HEYW F AN dedEe W TR T & FHERA
fodRit &1 T & grel= fhar S =gl

Calculators, mobile phones, smart watches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red hand,
they will not be permitted to write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, already published in our
website may strictly be followed.

TR U & IS TAT N 3UART 6 HIF & fow o a1 FavaTl gl

Space available in the Question Booklet can be used for rough work.

qiieT WA g W, H W AR Ieaw T A W RF av B Rt § wF #k A o o IR IR
e e F g FT & Tur SwAr eehde Wi It e U @ o 3 o AR offe wEd wwy
Tl FIaUET ader TRl

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the Invigilator and retain the duplicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.

3R T TR GATCT gl & a1g hdel YT Blel SIS I AN &l

Candidates will be permitted to leave the Examination Hall only after completion of the examination.

qieT % TG, 3FNEART B T UA AN Seal IR 3R GEAIRa vaer o gddersh & i a1 a@fevl
o aaffal o vaer o7 qdders v @1 |@ioT §, 3o 3 O 3R e R Aedied & AU faur a6t
foram Smwen| waer o e R srwerdr & uddetE @ dive i SR st & Bl

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card to the invigilator, will not be
considered for evaluation. Responsibility rests with the candidate to hand over the admit card to the
invigilator without fail.

3heT ST FERAOT & URAT & 61 WATOI Al ST0en, glefifsh 3Ffieart &I giaer & forw foedr & off
weeT few arw §

The questions in English version alone will be taken as authentic though questions are given in Hindi also for
the convenience of the candidates.
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sTFeHAT — ‘@Y (Fif¥w) / DRAUGHTSMAN — ‘B’ (MECHANICAL)

9.5 33 (9.5 f33ft) shior =7 82 ¢

What is nine and a half degree (9.5 degrees) angle?

(a) 9 33 5 &=e / 9 degree 5 minutes

(b) 9 330 30 A=/ 9 degree 30 minutes

(¢ 9 f33 0.5 A=e /9 degree 0.5 minutes

(d) 9 B3 5 AeC 10 AFS/ 9 degree 5 minutes 10 seconds

34 x /273 1o Aferw

Calculate ¥4x ¥/27/3 <
(@ 1 ® 6

© 9 @ 2

Il x FT 30%, 15 &, ar x AT &2
If 30% of x is 15, then what is x?

(a) 45 b 5
(¢) 50 (d 333

IfE 83X +20Y =638 3R X=Y/3 ¢ Ot X 3R Y =7 &2
If 3X+20Y =63 and X =Y /3, whatis X and Y?

(@) 33 /and1 () 13K /and3
() 1/33 /and 2/3 (d)  63/29 3 / and 21/29

T e A, 10% oTsfRAr 3R 30% wsd her & ¢ §1 AR %er gv asft 3R st A g
FEar 70 § 3R wlew F Yo A dsw A oHeAr asfeat & dem § aeE 8, ar e
e B T el s I st adeT 3 3uRRE ge 32

In an exam, 10% girls and 30% boys have failed. If total number of girls and boys failed are

70 and number of boys appeared in exam are twice the number of girls, then estimate how
many total girls and boys appeared in exam?

(a) 200 @sfRAT 3R 100 TSF / 200 girls and 100 boys
(b) 100 wsfRAT 31X 200 19/ 100 girls and 200 boys
(¢) 50 @sfHRAr 3R 100 &% /50 girls and 100 boys

(d 200 @sfFEar AR 400 FSH /200 girls and 400 boys
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10.

et shifeh WEAT3T &M AT 264 §, TS ~AaH HE&AT AT HfST|
The sum of three consecutive numbers is 264, find the smallest number.

(a) 87 " () 89
) 65 @ 262

ENOT & 0T T S.I. SIS §

S.I. unit of coefficient of friction is

@ N ®» mm

@ HN @ 3IRET F F FE 7L/ None of the above

gard 3R Tlld 13U §

Ratio of strain to stress is

(a) YT & ATY / Modulus of elasticity

(b) 1/eler ST A9 / 1/ Modulus of elasticity
(¢) ¢cdia/ Pressure

(d 3T H I Eﬁ]é‘ 61 / None of the above

o PraE 14 Aex & S F Rewor Y Roe F @9 0 e ¥ 3 ged B & a8
2 HIeY Fedl § 3N 3T Aee g8 1 A AR feae S &1 59 @t 9, Fosd garr @@=
%aﬁéwq@aﬁﬁmmmﬁmﬁl

A squirrel travels up on a slippery electric post of 14 meter height. In its first minute it jumps
2 m and next minute it slips 1 m down. In this manner, calculate the time taken by squirrel to
reach on top of the post?

(a) 28 TAC /28 minutes (b) 25 THSIC /25 minutes
(¢) 14 T&4T /14 minutes (d 13 &=I¢ /13 minutes

ay fafhcas @ gl # Fd 3R A9 8T &1 3R 3R X B od & ar 9 100 § 3R
3R 31 W e S § o & 320 Bl Fwl A @ A A

In a pet shop there are dogs and parrots. If their heads are counted it is 100 and if their legs
are counted, it is 320. Find the number of dogs?

(a) 40 , ) 60
(c) 80 (d 20
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11,

12.

13.

14.

15.

16.

wmﬁmaﬁtmwm4:5%1aﬁ:gﬁr%mﬁa’raawﬁm
arsfenar 87

The ratio of boys to girls in a class is 4 : 5. If there are 86 students in total, how many girls are
there in class?

(a) 14 (b) 16
() 15 @ 20

n

I sin(g)=0.6 &, @ cos(9) & Fear AT 7
If sin(9) = 0.6, what is the value of cos(g)?

(a) 04 (b) 0.6
(¢ 0.8 d 1.0

afe fRer 9er & gelcd 2.5 glem? § 3R SHHT AT 10 cm? ¥, @Y SHET geddAT & &7
If the density of a substance is 2.5g/cm? and its volume is 10 cm3, what is its mass?

(a 25¢g (b) Sbg
() 025¢ d 250¢g

25 cm ¥ dlel T T el Acle! 81T AT Il
Find the total surface area of cube whose side is 25 cm.

(a) 15625 cm? (b) 3750 cm?2
(¢) 300 cm2 (d) 2500 cm?

Teh 3G I AWHIA Fars & 0T HL AR 3T 20 m/s & IRBS 397 F T Y FW A 37
thepT ST § (AT ST & g = 10 m/s?)|

Calculate maximum height of a ball if it is thrown straight upward with an initial velocity of
20 m/s (Assume g =10m/s2).

(a) 20m () 10m
(c) 200m (d 2m

20cm$mﬁ100mﬁwﬁl§aﬁwwﬁmwh

What is the area of a right angled triangle having a base of 20 cm and height 10 cm? -
(a) 400 cm?2 (b) 100 cm?
(© 1cm? (d 3UFT H A BI5 a1 / None of the above
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17.

18.

19.

20.

21

ITe; TRdY 81 9 RIRIT 91T §of 916 AT g, ar gard

If the area over which a force is applied increases, the pressure?

"

(a) ¥adr g/ Increases (b) "ear & /Decreases

(c) TR TEAT &/ Remains constant (d) QE-’«’-TGT SITaT & / Becomes zero

e ufthar & a1g 1 3oa avA W oA R oS § o R oses At ol &
FUR & fav 58 -4 ds1 fFam Srar 82

What process involves heating a metal to a high temperature and then cooling it slowly to

improve its mechanical properties?
(a) mm?ﬁﬂa?r/ Annealing (b) WA/ Quéﬁbhing
(¢) 9faT/ Tempering (d) FBRAT /Hardening

80 frelama T 7% fohder grar &7

How much is 7% of 80 kg? .
(a) 5.6 Kg (b) 56 Kg
() 0.56Kg (d 11.43Kg

clIgT-shTeleT T4 €T, SEATT GIeM AT Golal gl ST AUROT et T WAfAF SR Far §?

What is the primary factor that determines whether an iron-carbon alloy will be steel or cast
iron?

(a) & @ HAET/ Carbon content
(b) 3cUlEsT &I d9ANT / Temperature of production
(0 &= 8rd dcd / Alloying elements

(d) <fideleT &3/ Cooling rate

ST 7T &9 § § olg 3R CAREEIbIGE
Steel is primarily an alloy of iron and

(a) el / Nickel (b)  disT/ Copper
(0 TeIAATH / Aluminum (d) e/ Carbon
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22.

23.

24,

25.

26.

27.

36 Km/hr & @97 & Toled dlell SR T Hedl (—ve calUl) &I 0T FY, o 50s & SUF &
R gt ST §

Calculate the retardation (—ve acceler:cltion) of a car moving with a velocity of 36 Km/hr which
is brought to rest in 50s?

(a) 0.72 m/s? (b) 72 m/s?

(c) 0.2 m/s? (d  2m/s?

28% @I TAe= (fraction) # F&fAT|

Convert 28% into fraction.

(a) 14/25 ®)  7/25

(c) - 7/50 (d  28/50
50°C &I BR=ese YA & qRafda #i

Convert 50 degree C into Fahrenheit scale.

(a) 122F (b) 59.78F

(c0 58F (d —422F

3000°C & & AYAT @ A & foU 6T 3IH0T &7 39197 fRar Srar 82
Which instrument is used to measure temperatures upto 3000 degC? |

(a) 3Tcepigel YHTHIET / Alcohol thermometer

(b) wIEHCH YATHEI / Bimetal thermometer

(@) UAEAfFed UEIHER / Thermoelectric pyrometer

(d) TafesRor arsedeT / Radiation pyrometer

729 T I FAT §?

What is the square root of 729?

(a) 23 () 13
() 27 @ 37

I g2t R dgam & dr H g 3,86,000 km § 3 T FT AT 3 x 108 m/s §1 THIT @R
qdl § HEAT T AT el A oo dlel HAT T IOTAT

If the distance between earth and moon is 3,86,000 km and velocity of light is 3 x 108 m/s.
Calculate the time taken by light to travel from earth to moon.

(a) 1.287x1032s (b)  3,86,000 s
{c) 1.287s d 3x108s
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28.

29.

30.

31.

32.

T foofell & @ & T N A F1 39997 e IW ¥ @R Ry arar g gy @ &
i?né1om§3ﬂrdﬁﬁmﬂwﬁ¥g£fzomq&wr&ﬁé%frgé%,a’rwaﬁraimém
AT f

An electric post is supported from top using a steel rope. If height of the pole is 10 m and
distance of the point on ground from post where rope is tied is 20 m, find the length of rope?

(a) 10+/5 m (b) 510 m
() 10m d 5m

gt 3R ST fr S.I. ShEaT T 87

What are the S.I. units of Pressure and Force?
(a) Pa3iR/and N () Nm 3R/ and ke

(0 Nm23R/and N (d N/m23R/andkg

I g S R & IAF 98T 2 cm & IRATAT AT ST § A 39 YK UISq el T AET FT
qar &l

If a cube of each side 2 ¢m is converted to liquid then calculate the volume of liquid thus
obtained?

(a) 12cm3 (b)) 8cm?
(¢ 24cm? (d 4cmd
TR 0T YauoT T giafafer §

Representation of first angle projection is

o= - 9
N=CR =

%@mmﬁaﬁmﬁrwm‘b’wmﬁmm

What does surface texture symbol ‘b’ presents in the figure shown?
b
a / cf
e\/d

(a) YUY Hed / Roughness value (b) o I f&2AT/ Direction of lay

(c) HAMTT 81T/ Machining allowance (d) 3caresd fafer/ Production method
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33.

34.

35.

36.

317.

38.

BIS & 34K, Y&l gReaHor ym & 0 Fegr Tiede (& fHegen) @ vy

According to BIS, surface roughness (two triangle) range \/V/ for finish in uzm shown is

(a) 0.05d/to00.1 . () 1.6¥ /to6.3
() 0.2¥ /t00.8 (d 125F /to25
gfafAfer sier ——— &7 3T B

Representative Fraction is the ratio of

(a) YR # ded & AEAH AR ded &7 grEdias A / Dimension of the element in the
drawing to its actual dimension of the element

(b) Y@RT & dca F II®T HTATH & foIT dea &1 gredfde HTAA / Actual dimension of the
element to corresponding dimension of the element in the d'rgwing

(¢) @ (a) AT (b) / Both (a) and (b)
(d) saH & HS HT AET / None of these

e AR & HTHR 3R AT AT Ses/iss Hr RGN & 78 87

Standard height/width of lettering recommended as per which standard?

(a) IS:2155-1963 (b)) ASME Y14.5-2018
() I50:3098-12015 (d  IS:10711-1983

g &1 Rl HP & & 3R @ VP, 8% 3 §
Position of the object below the HP and in front VP, Object is in

(a) Yge E@'ﬂ’i’?Tﬁ‘ / first quadrant (b) {Hﬁ‘ EITfff%TfT/ second quadrant
(c) &Y ?-I?_[QﬁQTﬁf third quadrant @ di EIT:B]‘TQTEE'H fourth quadrant

What is the quadrilateral with all the four sides are equal and the diagonal bisects at right
angles?

(a) TATATGK i‘l‘(fl)'ﬁiﬁf/ Parallelogram (b) HHAFE / Trapezium
(c) Wﬂﬁiﬁf Rhombus (d)  3ATIT/ Rectangle

A0 ZIEaT 2fiT T WA BT AR 4T 87
What is the preferred trimmed size of an AQ drawing sheet recommended?

(a) 594 x 841 (b) 841 %1189
() 420 x 594 d 210 x 297
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39. wﬁa‘g%W#aﬁwﬁéﬁﬁﬁmﬁﬁa@%ﬁsﬂmm%%wsﬁmww

40.

41.

42,

43.

fSg (50 &%) & & PfRTd g w & &, 38 Far oar 2

Plane figure bound by a curve formed by the locus of a point that moves so that it is always at
a fixed distance from a stationary point (its centre) is called?

(a) a'éaff / Ellipse
(b) Y9X@erT / Parabola
(c) gt / Circle

(d) @BuRsrar / Hyperbola

Wa‘ﬁaﬁmmﬁﬂﬁHMﬁﬁﬁﬂﬁmaﬂﬁﬁ;fﬁvwmmmﬁ?
What is used for dividing a circle into any number of equal ari‘g*lﬂar parts?

(a) WiceeX / Protractor (b) Fe-TFERT/ Set-square

() &HFIE / Compass (d) %T g%/ French curve

TS FA o915 L % fov, Ged Wiwse f 3ied 3 ¥ Nesd e & A S R
Tl C.LATIR 30T F3F Vel GIeIT Hed T 0T FY|
Z,=16 pym, Z,=0.4 pm, Z;=0.8 ym,Z,=3.3 um 3IRZ,=-04 ym .

The values of profile deviations from the mean line of the roughness profile for a sample
length L) is given below. Calculate surface roughness value using C.L.A. method

Z,=16 pym,Z, =04 pym, Z;=0.8 ym, Z, = 3.3 ym and Z;=-04 ym
(a) 6.8 um (b) 1.2 gum
() 15 um (d) 1.3 um

s@wahzﬁamﬁgaﬁrm%

Size of title block in drawing sheet

(a) 150 x 65 mm (b) 185 x 60 mm
(¢) 165 x 50 mm (d) 185 x 656 mm
8 ¢35 Rac & Rae g5 =arg #=1 &2

Rivet head diameter of pan head rivet is?

() 15D (b) 16D

(¢ 14D d 2D

10 765-DN(M)



el Raes ow s 424 mm RATH &7 3TANT F&H AR AT 1 3 & FT HT GG
FE FIT g% olet P AT B IO B

A single riveted lap joint is made using ¢ 24 mm rivets. Using Unwin’s formula calculate

thickness of plates joined

(8 24mm (b) 12mm
(¢) 16 mm (d) 32 mm

Geometrical tolerance symbol @ indicates

(a) IR / Circularity
(b) HerTUT/ Concentricity
(¢) SeATRIRAT / Cylindricity
(d) TAMART/Symmetry

R #F Rarar amr afFw @ =i &

Box shown in the figure @ represents

(a) @Il / Gradient (b) &7 /Region
(¢) €& / Boundary (d) g9 /Hatch
arEgd @ IcheadT (e) ©

Eccentricity (e) of ellipse

(a) e>1 (b) e<l

() e=1 (d e=0

11 765-DN(M)



48. ﬁaﬂgﬁaﬁéﬁa@ﬁ@w&—mm%

49.

50.

51.

52.

In AutoCAD shortcut key ‘C’ used for

(a) I & T / Chamfer ’ (b) T & T/ Copy
() g & T / Circle (d) &g & & T/ Close

TH e 3R 305 e a0 & 8¢ & AT S 8T 7T §
B¢ : 35.595 mm lFe: 35.465 mm

35.500 mm 35.440 mm
siftierad 3R =gaAae R A AT

Dimensions of a hole and its mating shaft are given below

Hole: 35.595 mm Shaft: 35.465 mm

35.500 mm 35.440 mm

Calculate maximum and minimum clearance

(@) 0.155 mm 3{X / and 0.035 mm (b)  0.06 mm 3R /and 0.13 mm
(¢) 0.035 mm 3iX / and 0.155 mm (@  0.13 mm 3R /and 0.06 mm

BSP T2 &1 afFAfAa @or §
Included angle of BSP thread is

() 60° ®)  55°
(© 47.5° @  29°

I3 IT7 & fAv, aRSIar &1 Hea 386 SR §

For grade IT7, value of tolerance is equal to

(@ T ®) 10:
(¢) 251 @ 160

R Afgger # 30T §

In Gear module is the ratio

(2) T= EEECRIN) 3R gral 1 §EAr/ Pitch circle diameter to the number of teeth
(b) 37T FT =g AR AT FHr TEAT/ Inside diameter to the number of teeth

(c) ETEY T eI AR gidl @ &A1/ Outside diameter to the number of teeth
(d) giar fr sEar Ik g g 418 / Number of teeth to the pitch circle diameter
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53.

54.

55.

56.

57.

A4 9T T 9%
Area of A4 sheet

(a) 0.3125 m? ®) 0.5 m?

© 0.125 m? @  0.0625 m?

& weher Sk R R F R wrn ¥ 222 e &
Hatch symbol as shown in the figure (222225 2% represents

(a) mﬁﬁmﬁr/ Aluminum (b) YIS HT/ Rubber
(c) W%e YT T/ White metal @ T H/ Steel

HleT & HET & T Uh WA VT Seflod ATl el & AT Teh Y I Hleal & Dl AT 4% TS
UTed gl 8, i 1ol @7 @RI §=I11 91T & 3R favesy W@ & qae=ieR 82

Which conic section is obtained by cutting a cone with a plane making the same angle with the

axis of cone as made by slant line and is parallel to slant line?

gsulater / Hyperbola

EIL?H Circle

(a) d&rdgd/ Ellipse (b)
(¢) €T/ Parabola (d)

U e Y@ WU &g q@rr qdr @emn R g S o e Tk qu ar sgee & ARt
3R g §

The curve traced by a point on a straight line which rolls around a circle or polygon without
slip

(a) FUSelN/ Helix (b)  3edaeidd / Involute

(c) THH/ Cycloid (d) g9/ Spiral

al gigeT e A1 3R A3 & oI &1hel IeaTd §

The area ratio between two drawing sheet Al and A3 is

(@ 2:1 ®d 1:2
() 1:4 (d

13 765-DN(M)



58.

59.

60.

61.

62.

et ST $7 31 de Tl AT & &I & 3] B FHgl AT §

The difference between the maximum material limit of the mating part is known as

"

() '{-I‘%'W_ET / Tolerance (b) fage=T/ Deviation
(c) 31?_-131?% [ Allowance (d e /Fit

T ¢ 120 mm IS W, ¢ 6 BE, 6 TEAW, 80 mm PCD W FA-GH W g, &l 3=l el & &z
& 9T T FA g0 T &7

On a ¢ 120 mm flange, ¢ 6 holes, 6 nos. is equi-spaced on 80 mm PCD, what is shortest
distance between the centre of the two adjacent holes?

(a) 100 mm () 60mm "
(¢ 40mm (d 50 mm

AT IrcHst 7 Tw A HIoT Bl &

Regular octagon has an included angle of

(a) 135° ' (b) 60°
(e 120° (d)  144°

TF G AR oF IR AP & T F olaad TH WS del eI el S §, A P A AP
WS 3ceT glal §7

A right circular cone if cut by a section plane perpendicular to the axis of cone generates which
conic section?

(a) &rerge / Ellipse (b) WEed / Parabola
(c) dd /Circle (d) @SWaEraT / Hyperbola
YU HIOT VAUUTH I &

In first angle projection object is

(2) HP & 39 3R VP & HH« / Above HP and in front of VP
(b) HP & & 3R VP & &Ha / Below HP and in front of VP
() HP & 39 3iX VP & 9 / Above HP and behind of VP

(d) HP & @ 31k VP & 9 §/Below HP and behind of VP
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63.

64.

65.

66.

67,

T Al W@ PQ & iU, P 3cem & 3IR QHP & 15cm 3R &, P 3R Q & wioteer & &g #r
2@16cm%IWTPQﬁ'a'Iﬁﬁﬁﬁ'a1é"ﬁT%?

For a straight line PQ, P is 3 cm and Q is 15 cm above HP the distance between projector of
P and Q is 16 cm. What is the true length of line PQ?

(a) 18 (b) 20
© 24 @ 25

3iterds ¥, Frfcrs Hot F10 1 3T gier &

In AutoCAD, the functional key F10 is used for

(a) AT AY/EE S AT/ Polar on/off

(b) atfa=frer UCS =mef/de & AT/ Dynamic UCS on/off
() 9 =Tey/sicsh T/ Snap on/off

d OoO-w=yu wﬁlﬁ$ fIT / O-snap on/off

Feaseh BsA & fhde 98X 81 82

Heptagonal prism has how many faces?

(a 6 by 7

(© 8 @ 9

Hehfed gd, FAG {@N AR 9% T & oI, ————— 3ua0T & 39217 fRar Sirar g
To create concentric circles, parallel lines and curves, tool is used.

(a) %/ Copy (b) WO/ Array

(€) HHAT / Offset (d)  &IOT/ Mirror

AT § ¥ ST O tF Y T AR 4T §7

Which amongst the following is a type of temporary fastening?
(a) ﬁlé’ / Soldering

(b) @IeX 3R 4w/ Cotter and key

(¢) afesar/ Welding

(d) Rafear/ Riveting
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68.

69.

T

7L

72.

3Tk #, F9 e Y F AT ITET 6 T arel FRicAs Hoit
In AutoCAD, functional key used for Snap ON/OFF is

(a) F3 : (b) F5
(¢ F7 (d F10

ﬁla%ﬁ%ﬂza?magzﬁfmwmmwmmm%?

Text command used for output of 25**% in AutoCAD is?

(@) 25%%d0.2 ) 25%%c0.2
(© 25%%p0.2 ) 25%%r0.2
C&W@ﬁ,m&ﬁmétﬂl -

In CAD tool bar, symbol E‘l represents

(a) ool / Copy _ (b)  3iTHdE/ Offset
(c) T&=Ta/ Stretch (d) YHEIT/ Scale
Ra 0.2 pm T GIEIUA AT oy GRear Aol He&ar & A @M §

Roughness value of Ra 0.2 um corresponds to what roughness grade no.

(a) N4 (b) N6
(¢ N8 (d N10

SFehIvi THrEAGT fOEdE weiaor qo, i R el X, Y, Z & ' I §A &7
AT &

Orthogonal axonometry in which projection plane forms three equal angles with three
coordinate axes X, Y, Z

(a) THATAIT TFGIAACT / [sometric axonometry

(b) zEAfTH TFEAALT / Dimetric axonometry
(¢) TORST tFAAAS / Oblique axonometry
(d) Faferx TFAIAST / Cavalier axonometry
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73.

74.

75.

76.

YR A ¢ 25 mm TTell SATPRI TAE T Th FHUSell FRET 3cesT AT A6 g gloera &
oI5 78.5 mm &1 B3I 7 ey Hior & q0rET A

A helix profile is to be generated on a cylindrical surface having base diameter ¢ 256 mm. Lead
of helix is 78.5 mm. Calculate helix angle in radians

(a) x/4 ®d) #/2
(© =x/6 - d =z

TH AP B IR A $60 mm 3R 3§F RS FeReX & @S 120 mm §l IE 4%
il & ar Bl & 3aRa o1 i soEr H1

A cone of base diameter ¢ 60 mm and length of its slant generater is 120 mm. If the cone is

developed, calculate the subtended angle in degree?

(a) 90 (b) 120
(e 180 (d) 360

J9 il gea & #% JEEAT F Ud AT SeH FRET gidl §, aF 3 i 9ifda sgae
T 87

When a number of dimensions of a component have a common datum feature, the preferred
arrangement of dimensioning is?

(a) ﬂ(‘!?!?rlT JTaA / Chain dimensioning
(b) TATAGR 3T / Parallel dimensioning
(c) T 3mATH / Reference dimensioning

(d) wHATrad 3T / Coordinate dimensioning

Fd P & AT Feg Y@ aa —Bf w1 v o aar §

Centre line average method is used for expressing

(a) ¥Hdg GIeIeT / Surface roughness
(b) gfduair TgaAefierdar / Bilateral tolerance
(c) HHTAT/ Flatness

(d) 3IWFT A F PIs 761 / None of the above
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78.

19;

80.

>‘ oy & R@Tw T des Ui B IgAE
Identify the Weld symbol shown in figure HK
(2) WA des / Seam weld

(b) Fic d5/ Spot weld

(¢) Toier des / Flash weld

(d) Ters des/ Stitch weld

ISO 261:1998 & 3FER, M6 ¢ & T mm & HH e R &

As per ISO 261:1998, standard fine pitch in mm for a M6 thread is

(@ 1 ) 0.8
(c) 0.6 (d 0.75

mﬁﬂmmmmmm%

Wear allowance is generally provided on

(a) 9 IS / Go gauge

(b) -3t 31T/ No-Go gauge

(© @ (a) 3T (b) / Both (a) and (b)

@ o 7 A AR A A At @ TR AT F FAfed fRAT SAr &/ When both Go gauge

and No-Go gauge are combined in one gauge

AT § ¥ #i & fre &1 § Tt §?
Which of the following is the correct representation of a fit?

(a) H8/gT (b) 50g7/H8
© 50HT/gT @  5OHS/50h7
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